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QUESTION 1

Which protocol does WebGate use to communicate with the Access Manager server? (choose the best answer.) 

A. TCP 

B. HTTP 

C. SSL 

D. Oracle AccessProtocol (OAP) 

E. Policy Administration Protocol (PAP) 

Correct Answer: C 

 

QUESTION 2

Identity two ways in which you can diagnose an issue when the Remote Registration Tool in Oracle Access Manager
fails. 

A. Ensure that an agent name is alreadyregistered. 

B. Ensure that the agent name is unique. 

C. Ensure that AdminServer is running. 

D. Ensure that AdminServer is not running. 

E. Ensure that the agent name and application domain are different. 

Correct Answer: AC 

 

QUESTION 3

In a Security Token Service deployment for Identity Propagation with the Access Manager token, which component
must be registered with Oracle Access Manager 11g to create a communication channel? 

A. WS-Trust Validation Template 

B. WebGate 

C. Oracle Adaptive Access Manager 

D. Oracle Identity Federation 

E. Request Security Token (RST) 

Correct Answer: B 
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QUESTION 4

Which statement is true about a single sign-on operation initiated from a Service Provider using SAML 2.0 in Oracle
Identity Federation (OIF)? 

A. Oracle Access Manager is required as a Service Provider integration module. 

B. An Oracle Access Manager WebGate is needed to protect the target web resource and redirect requests to OIF. 

C. HTTP post binding is only supported. 

D. Any HTTP request hitting the target resource is redirected to the Service Provider\\'s OIF instance. 

Correct Answer: A 

 

QUESTION 5

Identity functions that Oracle Adaptive Access Manager provides. 

A. risk-based access control 

B. secure credential collection 

C. offline and online risk analytics 

D. username and password validation 

E. single sign-on 

F. user provisioning 

Correct Answer: ABE 
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